Model Answer, B. Sc. lll Semester

Paper Code: As-2807

SECTION - A
(Short Answer Type Questions)
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Answer 1 (iii):
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Answer 1 (vi):
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Answer 1 (viii):
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SECTION - B
(Long Answer Type Questions)

Answer 2 (a):
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Answer 3:

PERKIN CONDENSATION: This reaction may be explained by two different mechanisms —
First Mechanism:
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HALOFORM REACTION:
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Answer 4 (a):
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Answer 5:
Killiani F. Synthesis:
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Ruff degradation:
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Answer 6 (a):
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Answer 6 (b):
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Answer 7 (b):

Answer 8 (a):
Ennnﬁnmgﬁ

'Dptlcﬂ'] isomers that are mirror images are cal]ed enantiomers. These always exist as discrete
pairs.

Enantiomers have identical properties in all respects except in their interaction with plane of
polarized light. They have same melting point, density, solubility, color, and reactivity.
Both roate the the plane of polarized light to exactly the same extent (same angle) but one
rotates the plane to the right (clockwise: called dextrorotatory), while the other rotates the
plane to the left (anticlockwise: called laevorotatary).

Enantiomes are stable, isolable, compounds that differ from each other in 3-D spatial
arrangement. They cannot be interconverted under ordinary conditions

Example: Two optical isomers of lactic acid.

oot e
|

le=o Ho—C — H I-t H"f"’ah
|
CHy : L‘Hj

Page 14 of 15



Diastereomers: ’

*  Stereoisomers that are not mirror image of each other are called Diastersomers,

= Diastereomers have different properties. They have different melting point, boiling point,
solubilities, and reactivity,

*  For example 3-bromo-2-butanol which has two asymmetric carbon atoms shows four
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Where A is the mirror image of B, and C is the mirroe image of [3, Thuos four isomers are two
pairs of enantiomers,

*  But A and C are neither superimposable nor mirror image, called diastereomers.

* A and D are also diastereomers, as are B and C, and B and D,
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